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43.96 + 3.14 = 14(cm)
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4x2x3.14 = 25.12( cm)
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3x2x3.14 = 18.84( cm)
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= 22.137 +3 = 7.379( cm)
(9F) = (A8) x3.14
7.379 = (A1) x3.14
(A1) = 7.379 + 3.14 = 2.35( cm)

(BF) =(AA F3 A)+(2Y A5
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» E cm

> HE: 2cm

(Ft2]8)=12.56 + 3.14 + 2 = 2cm
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@ 8cm @ 7.5cm @S.Emm
@ 17cm ® 3.14cm

B

(¥F) = (A8) x3.140|2=2
53.38 = (A 2) x3.14 YUYt

(A%) =53.38+3.14 = 17(cm) 0|22
2] 2 9] Aol 8.5cmYYtt.
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@ 10cm @ 15cm ® 20cm @ 25cm @300m

(99 E9) = 2x(9 2 €A E) x3.14
188.4 = 2x (¥9] ¥kA]E5)x3.14
kAl o] 9] 52 188.4 + 3.14 + 2 = 30( cm) YU Tt
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8 cm 4cm @) ©
14 cm 7cm 43.96 cm ©
B) 75.36 cm | 452.16 cm?
> = cm
> = cm?
> = cm?
> E cm
» = cm
> Hg 2512cm
> HE . 50.24cm?
> HE D 153.86.cm?
> HE: 24cm
[> HEF 12cm
21520l | vtz &2 o] dF dolgo]
8 cm 4cm 25.12cm | 50.24 cm?
14 cm 7cm 43.96 cm | 153.86 cm?
24 cm 12cm 75.36 cm | 452.16 cm?
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YF 1 3x2x3.14 = 18.84(cm)




@ A5o] 25emQl

@ AE0] 2.3cm?l

o

o

sy

® A& 4cm

@ A& 2.5cm

® A& 6cm

@ A& 2.3cm

® A& 12.56 + 3.14 = 4(cm)
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(1) 17 x 3.14 = 53.38(cm)
(2) 4 x 2 x 3.14 = 25.12( cm)
53.38 + 25.12 = 78.5( cm)
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113.04 + 3.14 = 2 = 18(cm)




A

=

ZeA %

oo
rlo
Tlo
2
Ir
poY)
o
i
N,
D

O BE 99 9F&L oF 3.4 4Yrh

@ AF9 Zojol thet dF9] Hle& YF-aol2tal gyt




AlQ.

[ Ix2x314

= Jx3.14

=
e

i

&

-

nn

il
KO

A




o] 710]9] of 3.14 L},

21 5-2] Zo]e] oF 3.14 vjJ Yt}
3.14 Yt

=z
T
z_‘:.
T

<
2]

ol
o
NE

zo] vl g9yt

2

5

A 52l dofof o

o] oF 3.14 v Yt

A5

)
B:
o




=

@

0|
™
|
—_
o
Ul
ol
o
‘m .
of W
NS
F
B E
T
—_ ©
=
o o
W o
o
oo KX
.
T K0
ol o8 T
o =
NE o3 N

445 958 AYVL.

71

® 5o

i

9|

S

Al
o To

T
=y ul
w9
RO o OB
,.,_A.o o0 o
wo & K
5 o~ &
% ) T
T T B
™o T
T 0 o
~ N
M o o
o np e
TR N
ol 7y o
o mjp o
NF < N
Tl o
CASNG)

o.

sl

el

3

=

}o

<0
o)

o] Zolo} A gLo]

i

3 o)
51 o
= N

o5 o

of ©




® (¥9F) = (HA5) x2x3.14




—_—

<

_.L
I

el
K
i
il
Nfo
,mo
T
ojn

et

W2 2)x3.14 JYt}.

(

ol W
ol o
i J_.NO
‘o] )

Nf T

—

ﬂ
o
ﬂ
Eﬂ_nr__\o_‘_

= o
m;w%
T g

- 0

00

1
x3.14




26. H= 9] LFE AL,

>
> HE D 34.54cm

11 x 3.14 = 34.54( cm)




27. o] YUFE TS L.

L

>
[> ®EH: 50.24cm

(45)=(A&)x3.14
16 x 3.14 = 50.24( cm)




28. 9%7}50.24emgl Ao] Uik o] A9 A B Aol E T2,

» E cm

[> HEFD 16cm

50.24 + 3.14 = 16( cm)
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@ (29 A8)+ (#AE) @ (99 Hol)+ (18)
® (29 Fu)): (H4) @ (2%)+ (HAB)




Axge A2 B 9ol vedUth
Aoz eid (95-8)=(95)+(A8) &




